BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNEEFS) SH24E1081H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 = g8 ©

ENY= 1TH 1915 | 4,084 8 20 16 17 17 13 21 20 24 19 12 19
ENY= 2TH 770 1,671 4 4 6 6 7 7 8 3 8 9 9 4
H/IMNE 3TH 1453 | 2817 8 6 9 7 10 8 16 6 9 11 11 14
EVIY = 4TH 1,757 3,455 14 9 12 12 15 15 14 12 11 14 16 12
HINE 5TH 2076 | 3,757 15 16 16 16 11 13 13 13 18 10 12 11
H/IMNE 6TH 1,800 | 3,281 13 9 11 15 5 6 13 6 9 8 18 8
NG 1TH 3283 | 5,580 25 16 26 19 17 18 15 25 24 17 16 18
NG 2TH 1,309 | 2,207 3 9 11 7 7 4 7 8 7 9 3 7
m/IhNE 3TH 2,844 | 5223 25 17 14 17 19 14 19 13 13 9 19 14
Y= 4TH 1,765 3,263 1 6 4 6 11 12 11 7 8 11 5 13
m/IhNE 5TH 2,142 | 3,810 11 12 12 16 17 14 6 10 15 12 13 7
m/INE 1TH 1013 | 2,166 5 2 9 12 8 3 6 7 10 8 8 5
m/NhNE 2TH 1,712 | 3,493 5 5 8 8 4 9 8 5 12 6 12 16
mE/NhNE 3TH 1,801 3,424 14 4 19 9 16 13 14 12 15 10 12 14
mE/NhNE 4TH 1,611 3,259 14 8 11 7 10 10 9 5 17 18 12 10
mE/NhNE 5TH 2,043 | 3,882 12 13 19 19 18 10 14 16 17 14 23 11
mE/NhNE 6TH 2,392 | 3,998 8 12 15 9 13 10 6 9 13 10 10 9
m/hNE 7TH 3245 | 5584 12 17 25 12 15 19 15 25 25 13 21 25
m/NhNE 8TH 2,134 | 3614 21 17 17 9 25 12 10 9 10 12 15 11
d/hE 1TH 1,298 | 2,304 9 4 9 7 10 10 4 6 14 6 8 8
d/hE 2TH 2,897 | 5,421 18 23 18 21 16 20 32 22 16 17 30 23
d/hE 3TH 1,356 | 2,576 14 5 9 22 16 7 13 9 13 13 5 4
d/hE 4TH 2,303 | 4544 27 21 25 27 14 19 23 23 18 19 15 13
d/hE 5TH 1,767 | 3,080 5 12 10 4 10 15 3 13 5 7 14 11
d/hE 6TH 2,492 | 4,645 12 11 15 8 22 13 27 19 25 16 20 17
d/hE 7TH 1,476 | 3,204 15 13 19 11 16 11 20 16 12 18 10 16
dt/ha 8TH 1,639 | 3,643 7 11 13 16 18 17 12 12 12 16 16 17
=X 52,293 | 97,985 335 302 378 339 367 322 359 331 380 332 365 337
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM2510818
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 13 25 19 22 15 18 25 17 20 25 23 11 24 22 18 22 24 19 22 23
ENY= 2TH 5 8 8 4 7 8 2 3 6 8 7 11 8 6 11 10 10 3 5 9
ENY= 3TH 10 13 15 8 10 13 8 12 10 9 24 10 12 14 11 12 9 14 5 6
HING 4TH 17 20 12 14 15 19 9 18 11 13 9 16 14 13 11 9 8 10 15 10
EXINY = 5TH 12 11 21 11 16 7 18 8 9 12 12 10 6 10 6 13 12 8 7 21
ENY= 6TH 9 13 7 16 8 12 13 6 14 13 11 7 11 16 9 15 10 11 11 5
NG 1TH 21 19 12 18 20 17 15 18 19 16 22 10 22 12 24 11 18 13 21 13
mINE 2TH 5 7 11 3 11 3 5 5 5 10 4 13 11 4 6 4 4 6 7 8
mINE 3TH 13 15 15 19 11 11 16 17 18 19 18 21 14 22 24 23 18 18 17 16
NG 4TH 5 5 6 19 18 11 7 9 8 6 3 12 13 12 13 13 9 7 17 13
NG 5TH 13 12 7 9 10 5 17 12 19 6 14 14 13 21 15 18 17 16 16 28
m/INE 1TH 11 10 5 5 10 11 12 10 13 4 12 12 8 13 12 9 8 15 10 10
m/NhNE 2TH 12 9 10 10 5 13 15 9 15 13 11 14 13 18 14 16 19 15 17 15
mE/NhNE 3TH 14 13 12 9 20 13 13 23 13 10 17 12 18 10 18 7 16 12 14 15
mE/NhNE ATH 15 14 16 21 11 13 12 13 14 17 15 24 12 16 15 11 8 12 19 13
mE/NhNE 5TH 9 13 10 14 17 12 8 15 18 8 18 9 9 16 9 9 15 14 15 11
mE/NhNE 6TH 11 14 13 11 11 10 7 9 13 9 7 10 10 6 5 10 9 8 9 7
m/hNE 7TH 19 17 19 19 10 18 16 16 15 13 15 11 11 10 11 16 17 19 17 13
m/NhNE 8TH 19 11 6 9 13 10 7 9 2 6 14 6 6 8 11 1 10 11 7 13
d/hE 1TH 8 10 8 7 5 7 7 8 14 9 8 4 10 10 9 4 6 10 4 6
d/hE 2TH 26 15 33 15 15 13 23 20 24 16 15 19 28 23 23 14 21 18 17 20
d/hE 3TH 11 4 14 4 4 5 8 8 10 10 7 10 7 8 10 7 10 10 5 6
d/hE ATH 26 13 18 16 21 13 20 13 16 22 18 14 27 20 23 12 18 18 18 16
d/hE 5TH 8 11 10 6 11 13 13 11 6 12 6 10 12 9 4 11 13 11 9 8
d/hE 6TH 13 12 17 20 15 20 17 20 13 12 20 11 16 15 23 15 18 6 16 18
d/hE 7TH 15 14 21 14 12 13 15 11 15 9 11 9 16 19 11 23 13 17 15 25
dt/ha 8TH 15 18 23 16 21 17 19 21 10 27 18 22 9 20 18 20 15 27 20 26
=X 355 346 368 339 342 325 347 341 350 334 359 332 360 373 364 335 355 348 355 374 \
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM2510818
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 20 20 19 29 20 25 24 20 22 16 30 27 22 16 31 22 27 24 19 24
RING 2TH 6 13 8 7 9 7 14 10 8 11 7 11 8 16 8 5 12 9 14 5
ENY= 3TH 10 16 14 15 11 8 13 15 20 9 18 9 15 24 24 22 14 27 23 19
HING 4TH 14 8 20 13 14 16 16 17 15 23 8 21 33 22 13 28 22 18 15 24
HINE 5TH 12 14 9 14 11 15 13 15 17 20 20 17 24 19 28 35 19 28 29 31
HINE 6TH 12 11 20 15 11 14 14 11 15 16 17 24 20 14 26 22 27 25 27 28
NG 1TH 15 22 14 12 16 22 22 17 23 32 25 31 50 30 45 49 41 38 40 35
NG 2TH 4 1 7 7 6 4 7 4 13 17 8 14 16 16 14 9 18 12 22 21
m/IhNE 3TH 19 21 21 19 17 18 14 23 43 21 21 29 36 25 36 39 49 40 30 40
NG 4TH 9 13 11 10 19 15 17 19 20 16 17 15 30 23 24 20 28 24 31 18
m/INE 5TH 19 15 16 14 15 17 25 18 22 26 23 16 28 25 33 22 28 27 34 32
m/INE 1TH 7 17 11 9 13 14 10 18 9 9 15 9 12 14 16 16 10 15 12 8
m/NhNE 2TH 20 23 11 18 25 19 15 26 18 20 20 18 18 27 21 29 20 13 19 14
mE/NhNE 3TH 18 14 13 12 17 10 18 8 14 9 18 22 29 20 40 15 27 29 25 25
mE/NhNE ATH 15 9 14 13 10 16 18 12 22 9 21 12 16 24 26 12 20 18 16 14
mE/NhNE 5TH 13 14 14 13 15 22 25 13 19 22 24 21 25 22 32 24 26 29 30 20
mE/NhNE 6TH 9 9 9 15 12 17 10 14 22 17 18 21 27 25 21 28 20 29 36 28
m/hNE 7TH 12 15 17 16 19 22 16 26 23 28 28 32 36 27 36 49 36 51 52 42
m/NhNE 8TH 6 12 8 8 9 13 15 12 23 23 23 26 22 19 31 30 25 31 41 36
d/hE 1TH 2 8 9 13 7 7 10 8 10 13 15 3 11 19 14 19 16 13 13 18
d/hE 2TH 23 28 17 24 28 16 18 25 25 35 34 34 25 19 37 31 49 37 41 38
d/hE 3TH 11 9 8 13 11 13 13 11 22 15 11 14 21 21 26 29 26 22 21 18
d/hE ATH 24 19 18 25 18 14 19 17 27 18 25 24 36 30 29 32 39 26 39 39
d/hE 5TH 13 8 7 9 12 15 10 13 8 11 14 13 22 21 24 25 34 24 23 25
d/hE 6TH 9 20 12 10 16 25 21 24 28 24 32 20 27 31 37 38 34 32 30 29
d/hE 7TH 16 11 11 12 22 18 17 12 19 14 18 15 25 19 15 21 16 28 16 20
dt/ha 8TH 23 11 35 17 26 15 25 19 13 25 15 23 24 18 21 15 23 21 7 19
&8 361 381 373 382 409 417 439 427 520 499 525 521 658 586 708 686 706 690 705 670 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM2510818
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 21 23 18 31 25 16 19 24 31 30 20 20 18 22 32 28 25 18 41 14
HING 2TH 10 12 10 10 6 3 8 11 5 11 7 6 9 5 15 4 7 11 13 7
ENY= 3TH 19 19 17 15 13 16 14 20 15 17 24 18 18 15 16 9 9 26 20 17
HINE 4TH 21 23 26 31 16 18 25 22 18 21 24 15 24 13 19 24 22 27 21 19
HINE 5TH 29 25 33 36 33 30 23 31 27 27 26 26 21 28 35 22 22 29 31 30
HINE 6TH 22 27 24 12 26 22 16 22 17 25 24 12 20 15 18 23 23 14 24 16
m/IhNE 1TH 54 43 58 44 34 46 46 32 46 45 44 28 31 41 35 32 48 56 51 38
m/Ng 2TH 21 16 21 16 13 19 25 18 22 17 21 18 21 14 12 15 17 18 18 13
m/IhNE 3TH 35 48 43 40 37 33 38 41 39 39 37 28 38 38 38 36 33 48 34 36
N = 4TH 21 25 28 17 29 14 24 25 26 15 25 30 20 14 33 15 23 15 14 17
NG 5TH 35 27 28 26 38 30 37 32 26 22 30 34 33 27 37 28 31 32 31 27
m/hE 1TH 12 14 16 11 11 10 10 8 13 12 9 8 12 4 10 8 8 10 11 17
m/NhNE 2TH 13 15 15 14 19 14 18 13 8 14 13 17 20 7 16 16 22 16 19 17
mE/NhNE 3TH 28 17 17 26 24 10 17 16 27 15 17 21 18 21 18 20 14 16 26 23
mE/NhNE 4TH 18 10 19 18 15 20 25 18 18 11 17 20 19 20 17 16 12 16 24 22
mE/NhNE 5TH 34 25 22 17 26 21 19 20 14 16 35 26 28 31 31 24 26 26 31 33
mE/NhNE 6TH 38 40 35 31 41 35 46 31 32 32 36 22 36 24 34 29 34 23 35 27
m/hNE 7TH 63 47 40 46 45 39 39 46 54 34 40 44 37 46 42 28 33 37 29 33
m/NhNE 8TH 45 29 38 31 33 43 34 32 28 18 24 31 27 26 33 21 30 30 28 21
d/hE 1TH 17 22 18 24 21 18 20 21 22 15 17 13 21 12 14 22 17 15 13 12
d/hE 2TH 36 31 42 38 29 27 29 40 30 36 39 34 31 32 31 32 38 30 41 36
d/hE 3TH 16 21 23 23 22 19 22 17 13 16 21 23 21 25 16 19 22 13 18 19
d/hE 4TH 35 26 28 27 29 23 31 26 44 31 32 25 37 23 35 36 41 27 35 29
d/hE 5TH 33 18 25 20 26 18 18 17 18 25 26 26 29 16 27 20 18 16 21 12
d/hE 6TH 32 38 29 22 26 30 28 34 44 37 30 30 32 26 39 30 26 42 24 32
d/hE 7TH 20 24 28 20 26 18 18 19 15 24 19 13 28 23 21 29 26 12 18 22
dt/ha 8TH 12 14 21 14 19 19 18 12 17 9 16 15 26 17 13 15 17 19 22 20
&8 740 679 722 660 682 611 667 648 669 614 673 603 675 585 687 601 644 642 693 609 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEEFS) SM2510818
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 24 25 31 27 19 29 36 23 21 25 28 36 23 28 34 31 37 26 32 35
ENY= 2TH 9 8 10 10 6 7 12 2 3 5 8 13 22 9 12 11 15 13 21 15
HINE 3TH 21 14 20 21 18 11 15 18 14 13 16 18 22 20 23 25 23 17 19 23
HINE 4TH 20 23 30 26 29 32 23 19 22 19 29 26 31 20 14 21 24 25 20 19
HINE 5TH 33 23 32 26 27 37 26 19 31 19 26 22 32 28 28 28 37 28 28 29
ENY= 6TH 25 14 23 18 19 24 32 16 22 15 19 22 20 21 26 18 28 24 23 26
NG 1TH 47 48 38 47 45 35 41 39 39 29 36 38 55 43 42 47 46 52 47 55
NG 2TH 21 15 17 24 13 19 18 12 21 12 18 12 23 17 9 20 19 14 14 14
mINE 3TH 44 36 35 40 26 29 40 42 35 30 29 36 37 26 40 34 36 34 31 44
NG 4TH 30 20 21 19 15 12 27 12 18 34 30 15 26 20 11 19 27 25 28 18
m/IhNE 5TH 26 18 30 15 21 21 30 26 21 26 20 27 22 24 26 22 32 29 35 24
m/INE 1TH 17 19 13 11 10 10 12 11 13 9 14 10 16 16 14 17 16 12 20 18
m/NhNE 2TH 20 10 15 12 11 5 16 12 21 16 20 17 26 25 18 19 16 21 31 27
mE/NhNE 3TH 18 17 22 28 23 19 25 19 18 30 27 27 25 14 26 24 29 25 21 28
mE/NhNE ATH 18 19 21 9 16 23 19 22 28 15 20 18 25 25 22 30 26 19 30 33
mE/NhNE 5TH 25 31 25 24 24 23 21 20 31 16 28 25 15 25 26 19 37 23 23 16
mE/NhNE 6TH 26 19 23 23 26 23 23 27 22 22 25 11 32 22 31 23 34 23 20 25
m/hNE 7TH 51 39 40 36 45 34 45 40 43 26 34 34 46 36 39 37 56 35 54 31
m/NhNE 8TH 37 20 27 35 33 30 21 16 23 26 27 25 31 23 27 26 33 33 43 29
d/hE 1TH 20 12 17 18 11 16 18 15 19 19 25 18 13 23 23 12 18 9 21 15
d/hE 2TH 40 38 42 42 35 30 33 27 41 33 39 26 34 46 49 28 42 40 38 39
d/hE 3TH 13 23 23 11 14 14 20 10 15 20 9 12 20 16 23 15 22 16 19 16
d/hE ATH 27 26 27 24 34 30 32 18 31 26 37 24 26 31 31 32 27 31 42 28
d/hE 5TH 23 15 23 22 14 16 23 20 18 21 24 14 21 15 29 35 28 18 28 22
d/hE 6TH 35 33 30 37 47 25 34 30 38 24 34 35 37 28 28 30 32 30 31 35
d/hE 7TH 20 15 18 20 27 16 25 12 15 25 24 25 30 18 25 23 14 17 20 22
dt/ha 8TH 19 26 20 21 24 26 14 21 25 32 30 31 24 20 24 30 24 32 32 24
&8 709 606 673 646 632 596 681 548 648 587 676 617 734 639 700 676 778 671 771 710 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) SH2%1081H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 T 5 T EZ] T E2] 58 3 8 5 T 5 T 5 X 5 x 3 =

ENY= 1TH 50 42 33 29 43 30 40 34 32 32 28 31 34 20 34 28 25 19 27 24
EYN S 2TH 11 16 17 18 23 19 12 13 10 16 15 12 20 15 17 12 15 7 11 8
ENY= 3TH 24 23 20 27 34 20 30 22 23 23 25 20 22 16 28 22 20 15 23 19
EVIY = 4TH 21 31 25 19 28 26 32 24 26 23 25 18 27 22 16 28 20 25 28 23
HINE 5TH 21 19 34 30 23 18 30 24 32 24 26 29 27 20 19 26 31 21 16 26
H/IMNE 6TH 29 24 28 32 24 24 27 25 25 18 31 25 31 32 19 24 22 26 23 30
Y= 1TH 52 45 58 39 44 47 54 54 49 43 47 44 40 44 33 31 31 32 42 33
mINE 2TH 22 16 26 26 19 27 27 9 25 17 20 20 16 11 14 15 19 12 12 15
m/IhNE 3TH 34 40 42 42 62 48 32 31 57 47 34 33 36 38 48 40 39 41 48 31
Y= 4TH 19 27 25 20 26 31 26 26 28 34 26 34 31 24 31 29 29 20 29 21
m/IhNE 5TH 37 41 31 24 33 40 40 36 28 35 36 30 38 31 30 23 31 26 23 41
m/INE 1TH 18 18 23 21 23 16 18 24 31 21 31 20 31 23 19 23 19 15 19 19
B 2TH 36 38 42 33 30 42 31 35 35 29 29 28 28 22 30 27 26 21 32 30
B 3TH 22 30 31 27 31 24 34 28 25 16 28 31 27 30 31 29 24 24 38 23
B 4TH 25 27 36 28 30 23 32 23 31 23 27 15 38 19 18 36 19 16 24 21
B 5TH 20 28 43 24 32 41 27 26 29 33 36 34 36 30 33 36 27 13 28 31
B 6 TH 35 24 24 42 22 22 34 27 26 27 30 27 31 28 35 31 33 21 33 22
B 7TH 51 39 49 40 49 56 55 51 50 39 45 38 44 46 41 43 32 31 39 37
B 8TH 32 26 31 33 39 35 27 23 35 27 21 25 29 30 26 20 14 19 22 28
d/hE 1TH 17 11 22 17 17 20 22 16 14 19 16 26 16 21 17 14 21 15 20 8
d/hE 2TH 37 41 50 53 43 38 46 56 48 35 35 33 47 28 53 54 27 34 38 45
d/hE 3TH 18 14 22 18 17 16 28 17 21 16 18 18 17 21 15 19 13 17 22 17
d/hE 4TH 42 31 35 36 44 27 41 42 50 26 37 36 30 41 27 29 23 41 30 29
d/hE 5TH 23 20 25 24 27 21 21 25 31 13 21 17 15 21 18 26 17 12 19 26
d/hE 6TH 35 25 38 29 38 31 51 36 45 43 54 30 46 27 24 39 24 18 39 18
d/hE 7TH 26 24 31 28 28 26 32 26 28 23 25 14 19 22 22 25 18 21 24 16
/e 8TH 34 29 35 47 31 24 42 34 31 36 41 31 27 24 28 28 20 25 24 26
=X 791 749 ] 876] 806| 860| 792 | 891| 787 | 865| 738| 807| 719] 803 | 706| 726| 757| 639] 587] 733 667
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEEFS) SM2510818
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 28 23 31 31 25 23 35 12 22 23 23 26 19 18 24 20 16 14 20 17
HING 2TH 10 19 12 6 14 8 13 6 13 7 7 8 9 10 10 12 10 10 9 8
ENY= 3TH 23 13 24 23 27 17 13 19 12 12 15 16 15 14 12 9 13 13 12 8
HINE 4TH 23 23 26 18 23 22 16 17 18 13 22 12 16 20 19 17 21 14 15 16
HINE 5TH 24 26 22 28 21 31 29 29 27 32 23 17 15 23 23 12 24 17 20 20
ENY= 6TH 25 19 23 21 21 16 24 19 16 15 21 22 18 22 18 16 18 19 16 11
NG 1TH 46 45 38 32 35 38 31 36 25 33 31 25 33 18 29 21 30 27 29 28
NG 2TH 21 10 15 14 11 11 16 13 9 10 13 12 6 5 9 7 13 15 14 16
m/IhNE 3TH 27 34 51 37 28 35 25 27 21 29 23 25 37 35 25 26 35 24 23 35
NG 4TH 28 19 25 18 23 20 12 16 23 23 20 19 15 22 23 14 26 17 20 13
NG 5TH 30 30 23 25 30 23 17 16 25 26 25 16 20 14 20 19 19 18 17 20
m/INE 1TH 13 17 16 16 11 8 12 14 13 12 9 9 14 5 9 5 8 11 13 9
m/NhNE 2TH 27 23 24 20 23 22 24 17 25 20 19 20 16 10 19 10 16 12 10 12
mE/NhNE 3TH 28 19 21 17 36 19 25 25 17 21 21 15 24 15 18 12 21 18 19 9
mE/NhNE ATH 24 26 23 20 22 19 27 12 9 15 15 20 20 18 21 17 21 13 14 20
mE/NhNE 5TH 32 24 23 39 28 27 31 25 36 23 27 26 19 25 23 16 25 22 20 13
mE/NhNE 6TH 24 18 23 36 31 26 20 27 23 26 32 15 21 23 21 22 19 25 29 18
m/hNE 7TH 42 36 51 24 30 30 42 31 32 37 32 23 33 33 24 26 34 28 14 17
m/NhNE 8TH 27 15 20 16 19 20 23 22 29 17 21 27 15 21 15 12 16 18 21 15
d/hE 1TH 15 12 12 21 11 16 14 8 14 16 9 15 15 19 14 13 20 14 8 11
d/hE 2TH 49 53 36 33 36 31 36 36 37 35 26 25 30 30 21 21 25 34 31 33
d/hE 3TH 15 8 30 19 20 12 10 15 9 9 10 8 12 14 16 13 9 18 11 12
d/hE ATH 19 31 42 35 30 22 18 21 31 23 28 22 22 17 24 17 30 16 27 26
d/hE 5TH 19 14 25 24 21 15 11 22 22 19 23 15 17 22 16 13 20 22 13 23
d/hE 6TH 24 31 28 25 29 21 35 36 23 23 31 22 27 32 32 18 25 32 32 16
d/hE 7TH 20 14 17 16 16 19 19 18 27 20 16 21 15 16 10 7 27 11 19 24
dt/ha 8TH 29 20 37 23 29 25 18 19 21 22 14 18 26 19 21 9 22 20 18 20
&8 692 622 718 637 650 576 596 558 579 561 556 499 529 520 516 404 563 502 494 470 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEEFS) SM2510818
R 667% 677% 687% 697% 705% % 125% 135% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 15 22 15 17 25 22 17 27 26 22 29 29 30 21 18 27 12 20 13 20
HING 2TH 16 9 10 7 10 6 7 6 9 8 13 11 12 19 13 12 3 4 9 11
ENY= 3TH 20 13 13 11 13 5 19 14 15 24 17 22 23 20 12 13 13 16 15 13
XN = 4TH 16 24 14 17 19 19 22 16 24 18 25 31 35 22 24 27 12 16 15 18
HINE 5TH 20 20 19 18 21 20 18 17 18 34 36 30 37 32 24 26 10 17 11 16
HINE 6TH 20 17 13 23 26 10 22 23 20 23 27 26 25 30 24 35 5 17 19 15
NG 1TH 25 25 31 24 33 32 39 34 22 40 28 40 48 25 37 40 25 26 20 22
LN = 2TH 12 12 10 6 22 11 14 11 10 13 16 14 18 16 20 11 8 16 6 14
mINE 3TH 30 26 33 27 30 26 39 38 47 25 39 40 31 43 23 38 11 22 37 28
NG 4TH 22 16 17 21 16 21 15 19 13 27 28 24 20 26 23 25 15 13 15 23
NG 5TH 18 19 19 19 25 17 19 20 24 14 31 24 23 29 21 23 15 17 8 13
m/INE 1TH 9 13 11 11 14 5 9 14 15 10 13 13 16 8 8 10 7 14 7 9
m/NhNE 2TH 13 17 24 27 9 17 31 23 22 22 24 29 28 41 32 41 17 21 16 22
mE/NhNE 3TH 15 17 19 15 17 20 23 15 15 25 12 14 23 23 24 14 11 20 15 17
mE/NhNE ATH 14 13 20 21 20 20 15 16 16 18 25 18 19 31 15 27 15 15 16 13
mE/NhNE 5TH 24 20 27 20 25 23 20 15 28 25 23 16 28 25 33 17 10 16 21 22
mE/NhNE 6TH 24 28 35 19 24 28 17 27 34 34 42 25 38 32 22 40 14 18 25 33
m/hNE 7TH 19 29 20 34 27 31 35 24 34 43 37 50 41 47 37 38 22 26 23 31
m/NhNE 8TH 27 15 18 13 16 20 24 21 19 15 22 22 29 16 16 32 13 19 15 22
d/hE 1TH 15 16 22 12 9 12 12 12 15 21 13 16 15 27 21 13 9 15 8 10
d/hE 2TH 26 30 29 31 22 37 43 36 41 45 48 34 38 34 38 37 18 25 21 30
d/hE 3TH 15 10 15 12 11 15 13 23 18 19 30 16 17 18 16 15 10 9 10 8
d/hE ATH 23 27 25 16 18 24 23 25 25 19 28 37 34 25 27 42 11 14 31 20
d/hE 5TH 15 12 18 14 22 16 20 21 17 21 28 21 25 29 29 27 17 20 12 6
d/hE 6TH 30 21 20 27 25 33 30 27 33 26 37 27 40 32 37 42 23 16 19 33
d/hE 7TH 16 11 12 16 17 19 13 13 19 19 23 11 26 25 16 25 16 10 10 12
dt/ha 8TH 21 14 24 14 13 18 18 19 20 22 20 25 31 22 16 23 12 18 16 17
&5 520 496 533 492 529 527 577 556 599 632 714 665 750 718 626 720 354 460 433 498 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNEEFS) SM2510818
R 767% 175% 787% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 12 21 24 21 15 23 19 25 13 21 19 16 13 17 10 17 14 21 11 15
ENY= 2TH 9 9 6 9 12 11 7 12 5 8 2 8 6 5 4 8 2 8 2 5
ENY= 3TH 26 16 14 11 16 22 12 15 12 10 9 15 11 14 3 10 4 13 9 16
EVIY = 4TH 22 23 15 19 19 23 15 23 12 19 12 16 11 20 15 16 11 16 15 25
EXINY = 5TH 23 22 11 26 16 18 16 16 19 17 10 12 6 17 15 18 13 19 2 23
RING 6TH 17 18 11 20 23 19 12 16 11 17 8 8 9 15 11 25 9 18 7 19
NG 1TH 29 34 21 22 16 32 16 41 20 28 17 22 6 10 10 12 11 39 15 18
NG 2TH 8 9 5 9 10 20 12 4 5 10 5 4 4 11 1 6 4 14 6 8
m/INE 3TH 23 27 8 24 18 24 26 23 13 28 11 20 17 31 16 25 11 17 15 22
NG 4TH 14 14 19 20 12 21 13 23 9 11 10 18 8 15 8 16 7 12 8 14
NG 5TH 17 12 17 18 14 21 9 12 10 15 9 12 8 7 9 13 8 16 2 11
m/INE 1TH 7 16 11 11 8 15 12 14 5 8 7 14 14 12 12 16 7 8 5 14
m/NhNE 2TH 21 20 15 37 20 36 21 26 17 29 16 22 16 29 16 29 13 37 15 18
mE/NhNE 3TH 17 23 16 18 16 23 18 23 16 18 11 16 11 11 14 18 5 22 11 14
mE/NhNE ATH 15 25 18 17 27 27 18 25 16 22 10 14 13 22 16 14 10 20 8 20
mE/NhNE 5TH 23 15 21 22 13 28 12 21 14 17 12 18 11 19 8 21 13 22 9 20
mE/NhNE 6TH 28 35 22 21 15 15 20 28 9 25 13 15 10 15 14 22 17 22 15 13
m/hNE 7TH 36 33 31 45 29 32 19 33 19 29 20 31 18 26 18 32 21 27 17 22
m/NhNE 8TH 16 18 14 21 15 19 19 8 12 14 9 18 5 19 5 10 9 7 4 17
d/hE 1TH 7 10 12 18 12 15 4 10 5 11 3 4 1 4 4 7 4 12 4 8
d/hE 2TH 24 30 22 22 19 32 20 28 14 36 7 24 16 24 14 18 17 29 11 19
d/hE 3TH 16 14 7 11 17 17 7 17 6 16 12 14 4 12 11 15 6 7 6 9
d/hE ATH 15 28 18 30 27 32 17 25 13 27 8 19 20 18 20 17 12 13 17 14
d/hE 5TH 17 16 17 19 14 14 15 17 15 17 7 12 4 15 4 13 12 19 4 15
d/hE 6TH 22 25 22 24 19 24 21 27 17 31 16 12 11 20 17 23 14 12 10 14
d/hE 7TH 18 22 7 13 18 15 16 19 10 12 10 21 11 12 7 18 5 14 7 19
dt/ha 8TH 15 19 15 23 17 23 16 16 20 22 16 19 14 11 13 16 11 20 12 15
&8 497 554 419 551 457 601 412 547 337 518 289 424 278 431 295 455 270 484 247 427 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEFH/RD) FH2%10A18
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

ENY= 1TH 9 16 6 8 6 11 3 7 0 8 3 6 1 8 1 5 2 1 0 4
ENY= 2TH 4 5 1 3 2 8 4 4 3 9 2 6 5 3 2 1 1 1 0 2
ENY= 3TH 7 15 5 6 7 6 5 7 4 10 1 5 3 3 0 6 4 3 0 2
EVIY = 4TH 6 12 7 15 5 19 4 15 2 11 4 12 5 8 1 6 1 3 0 5
HINE 5TH 7 13 8 11 6 15 6 8 1 10 3 5 0 7 3 7 1 3 0 4
ENY= 6TH 10 10 7 18 5 19 9 3 1 6 4 8 2 4 1 7 1 4 0 1
NG 1TH 10 17 9 22 5 14 5 9 5 11 3 9 5 8 5 11 0 8 4 6
NG 2TH 4 4 6 4 1 4 3 6 1 4 1 5 0 7 1 4 0 3 1 1
mINE 3TH 15 20 8 18 5 12 11 12 4 17 8 13 2 12 4 9 7 6 2 5
NG 4TH 6 20 7 16 5 7 8 11 1 3 3 7 2 2 1 5 2 2 0 0
m/IhNE 5TH 2 8 2 10 3 9 5 13 3 10 3 6 1 5 2 3 2 3 1 1
m/INE 1TH 6 6 2 3 3 8 2 7 4 3 0 1 0 2 0 4 1 1 0 1
m/NhNE 2TH 18 14 6 14 11 11 6 12 6 9 2 11 1 9 1 5 3 3 1 2
mE/NhNE 3TH 6 9 4 14 3 5 3 15 11 8 3 7 2 11 1 7 1 8 1 2
mE/NhNE ATH 7 14 10 10 3 16 6 11 1 10 2 6 1 2 0 4 0 4 0 2
mE/NhNE 5TH 6 13 7 11 4 14 9 15 2 6 4 14 3 9 2 12 2 3 1 4
mE/NhNE 6TH 9 15 12 18 6 17 5 19 1 9 2 15 1 10 3 6 1 8 1 4
m/hNE 7TH 15 20 7 17 10 14 4 12 4 10 2 7 3 6 2 7 3 4 2 5
m/NhNE 8TH 3 15 8 12 5 5 3 9 6 2 0 7 0 6 1 2 1 5 0 4
d/hE 1TH 6 5 2 5 3 8 1 2 2 2 1 2 0 2 1 3 2 2 0 4
d/hE 2TH 11 20 7 19 7 8 10 11 7 19 3 12 4 8 1 2 2 5 2 3
d/hE 3TH 6 9 4 1 4 8 5 4 2 5 3 1 3 2 0 3 1 5 2 0
d/hE 4TH 4 14 7 14 8 10 5 10 2 8 3 10 1 6 2 6 1 7 0 8
d/hE 5TH 6 14 6 8 7 9 6 10 3 7 5 8 2 8 3 8 0 6 1 3
d/hE 6TH 8 17 10 14 6 14 4 13 6 9 3 7 2 4 2 8 1 7 0 3
d/hE 7TH 6 11 9 14 5 13 3 6 5 12 2 7 0 3 2 5 0 2 0 6
dt/ha 8TH 2 12 9 10 2 10 6 11 2 4 4 10 1 4 0 1 0 1 1 3
&8 199 348 176 315 137 294 141 262 89 222 74 207 50 159 42 147 40 108 20 85

10/ 12 R—




GIFIRX)

t&

BT T &5 - E55 - B&h ##

(EREAXG/RAD)

&

BT T BAl- 55 - B&h ##

00000000000000000000000000OM
1R
Lo
Em OO0 I0I0|0|0|0OI0|0OI0OI0O|0OI0O|I0O|I0O|0O|I0O|I0O|IO0OI0O|IO0O|IO0|O|O OO
—
11y
o
—
.W/u__l OO0~ OO0 0|00 I0O|0OI0OI0OI0O|I0OI0OI0OI0OI0|IO0|~|—|O |0
"
¢ &
m OO0 |0O|0O|O|O|0|0|0|0|0O|O0O|0O|0O|0O|0|0O|0O|O|O|O|O|lO0O|O|O|O]JO
O OO0 |0O|0O|0O|0|0|0O|0O|0O|—|O|0|0O|ON/O|O|O|—~|O|O0O|O|O|O]<
ﬁ
™
m OO 0O|N|O|OO|0O|0|0|0|0O|O0O|0O|0O|0O|0|0|0|0O|0O|0O|0O|0O|0O|O|ON
[=llellellell dliellellell il dielleliellellellollellellell diellellolio]ielle] LS
ﬁ
N
m OO0 |0|0O|0OO|0|0|I0|0|0|O|—|O|0O|0|0O|0O|O|O|O|O|O|O|OC O
OO0 |O|—|ONO|IOI0O|0O|0O|O|0O|0O|—~|—|N/O|O|OO/0O0OO0|O|™]0
ﬁ
m OO0 |0|I0|I0|0|0|0|0|0|0|I0|0O|I0|I0O|I0O|I0O|I0O|O0O|—|O|O0O|O0O|O0|OC (O
100101002100000311201002202%
42
o
m OO0 |I0I0I0| 0|00 0O|—OI0O|0OI0I0OI0O|I0OI0OI0O|I0OI0|O|— OO0 O
OO N—~|—— OO0~ |—O0O|mMOONO|——— Ol0jJ©
—
ﬁ
% OO0+~ |—|O|O|0|0|0|0|0O|O0O0O|0O|0|0|0|0|O|O|0O|0O|0|O0|O|ON
102311313101210203110211310%
4R
% — O~ O|0O|O0OI0|0|I0O|—|O|O|0O|00O|—|0O|0|0O|ON OO0 |O|Oj©
00111120420111204141210422n/_m
§HR
n_w OO0~ OO~ |O0O|0O|—| OO NNO|—|O|O|O|0O|O|O0O|O0|OC |0
011221311101212315213023124%
42
% 102310000021000100010141110%
(LT | (T | CTT | T | | CX T | X (| | X | | X | | CX | | CX (| | | T T
el ol s s et s Lt o Lt L e L L o vl o
V._m —N®OTIOOI—N®MSTIO—N®SIOONO—AN®MSIOO©IN
N
g e
W
wmm_. e B IR R TR R TR B TR B B R B R R R BT R B T R R TR R
E clzelzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlzlz |zl 2 14—
z, ”_”_”_ddddddddddddddddmmmmmmmm____n
S GG K T ) T ST S B BB < R R - =~ = KT

11 /12 R—=



BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SF2410818
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2042 | 2042
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 852 819
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1425 1,392
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o 1672 1,783
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,836 1,921
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1630 1,651
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2,788 | 2792
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,128 | 1,079
m/IhNE 3TH 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0| 2556 | 2,667
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,643 1,620
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1934 1876
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,086 1,080
m/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1687| 1,806
mE/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,770 | 1,654
mE/NhNE ATH 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,631 1,628
mE/NhNE 5TH 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0| 1968 1914
mE/NhNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,999 | 1,999
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2778 | 2806
m/NhNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,834 1,780
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,133 1,171
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2685| 2736
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,311 1,265
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2,341 2,203
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1535| 1,545
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2377 | 2268
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,597 1,607
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,790 | 1,853
&8 0 0 0 1 0 1 0 1 0 0 0 0 0 0 0 0 0 0 | 49,028 | 48,957

12 /12 R—S




